Question 1:
Using [image: image2.png]AH®



 and [image: image4.png]AS®



, calculate [image: image6.png]AG®



 and [image: image8.png]


 for the following reaction:
[image: image9.png]HBr(g) + Clayig) = HClig) + Bryy




If this is a spontaneous reaction, will it be spontaneous at all temperatures?
Question 2:
Give the following battery: [image: image11.png]AuT3/ AP



 and [image: image13.png]Ni*2/Ni®



 and calculate [image: image15.png]EC



. If you wanted to reduce your [image: image17.png]EC



 of your battery by [image: image19.png]-20



 Volts and the concentration of [image: image21.png]Au™3



 is [image: image23.png]25



 M, what would the concentration of [image: image25.png]Nit2



 have to be?

Question 3:
Choose in which direction the following reaction would be spontaneous. Calculate[image: image27.png]EC



,[image: image29.png]AG®



 and [image: image31.png]


 and for the spontaneous direction.
[image: image32.png]Fe® + Clay & Fe™liag + 200 (g




Question 4:
For the following reaction choose which direction the reaction would be spontaneous and calculate [image: image34.png]


 when the concentration of [image: image36.png]Au™3



 is [image: image38.png]25



M and [image: image40.png]


 is [image: image42.png]1.23



M:
[image: image43.png]Cugs) + Au™ & A
ucs) + Cu™




Draw the battery and choose which metal will be the anode and which will be the cathode. If the concentration of Gold [image: image45.png](Au™3)



 would be reduced to [image: image47.png]25



M, would that help or hurt the energy output of your battery, explain.
Question 10:
Give the half-cells:
[image: image48.png]Ni/Nit?
/Ni*? and Fe™3/Fe™?




A. Choose the anode and cathode.
B. Calculate [image: image50.png]EC



 and [image: image52.png]AG



 for this reaction.
C. Calculate what the new cell potential [image: image54.png](E)



 would be if the concentrations were [image: image56.png](V™)

1.60



M and [image: image58.png][Fe*3] =0.0030



M and [image: image60.png][Fe™2] = .025



M.

